Research Paper Predictors of Marital Adjustment Among Females: The BASNEF Model

Hadi Alizadeh Siuki¹ 💿, Rasoul Alimi² 💿, Hashem Heshmati^{1*} 💿

1. Department of Public Health, Health Sciences Research Center, School of Health, Torbat Heydariyeh University of Medical Sciences, Torbat Heydariyeh, Iran.

2. Department of Epidemiology and Biostatistics, Health Sciences Research Center, School of Health, Torbat Heydariyeh University of Medical Sciences, Torbat Heydariyeh, Iran.



Citation Alizadeh Siuki H, Alimi R, Heshmati H. Predictors of Marital Adjustment Among Females: The BASNEF Model. Journal of Research & Health. 2025; 15(4):355-364. http://dx.doi.org/10.32598/JRH.15.4.659.6

doi http://dx.doi.org/10.32598/JRH.15.4.659.6

ABSTRACT

Background: Because of the importance of marital adjustment among couples and its effects on physical and mental health, the current study was conducted to determine predictors of marital adjustment among wives based on the beliefs, attitudes, subjective norms and enabling factors (BASNEF) model.

Methods: This cross-sectional study was conducted on 300 married women aged 18 to 49 referred to health centers of Torbat Heydariyeh (a city in the northeast of Iran) from April to July 2023. They were selected using a multi-stage cluster sampling method. Data were collected using demographic characteristics and researcher-made BASNEF model constructs. Then, the obtained data were analyzed using descriptive and analytical statistics, including the Pearson correlation and structural equation modeling (SEM), using SPSS software, version 26 and Mplus software, version 6.

Results: Most samples were between 30 and 40 years old (37%), had diplomas (39.3%) and were housewives (69.1%). Behavioral intention (ρ =0.635, P<0.05) and enabling factors (ρ =0.335, P<0.05) were directly effective on behavior and the effect of behavioral intention was stronger compared to enabling factors. However, the enabling factors were also indirectly effective on the behavior via the behavioral intention (ρ =0.196, P<0.05). Subjective norms indirectly influence behavior through behavioral intention (ρ =0.175, P<0.05). Knowledge (ρ =0.082, P<0.05) and attitude indirectly (ρ =0.142, P<0.05) affected behavioral intention through subjective norms.

Conclusion: BASNEF model constructs are suitable predictors for marital adjustment. Therefore, educational interventions based on the BASNEF model are suggested to be designed and implemented to promote marital adjustment among couples.

Keywords: Marital adjustment, The beliefs, attitudes, subjective norms, enabling factors (BASNEF), Iran

.....

Article info:

Received: 21 May 2024 Accepted: 28 Sep 2024 Publish: 01 Jul 2025

* Corresponding Author:

Hashem Heshmati, Assistant Professor.

Copyright © 2025 The Author(s);

Address: Department of Public Health, Health Sciences Research Center, School of Health, Torbat Heydariyeh University of Medical Sciences, Torbat Heydariyeh, Iran.

Phone: +98 (913) 451205

E-mail: Heshmatih1@gmail.com



This is an open access article distributed under the terms of the Creative Commons Attribution License (CC-By-NC: https://creativecommons.org/licenses/by-nc/4.0/legalcode.en), which permits use, distribution, and reproduction in any medium, provided the original work is properly cited and is not used for commercial purposes.

Introduction

arital adjustment is a evolutionary procedure in the relationship between couples that refers to a state of adjustment in various facets of their marriage where conflicts may arise [1, 2].

Marital incompatibility means dissatisfaction, lack of happiness, not agreeing on decisions and inappropriate communication. This problem destroys the life and has harmful effects on the physical and mental health of the couples. Moreover, this problem leads to a range of behavioral and emotional problems for children who are exposed to parental conflicts [3]. Including internalizing disorders, anxiety, depression, and withdrawal; externalizing disorders (aggression, delinquency, problems with adapting to the environment and friends, behavioral-emotional problems, educational and occupational problems, along with other problems such as alcohol and drug abuse, and suicide ([4-7].

Understanding the individual characteristics of the spouse is an ongoing aspect of marriage because even if two people know each other before marriage or at the time of marriage, achieving marital adjustment necessitates maturity for acceptance and understanding by the spouse; without such maturity, marital discord becomes inevitable. Given the paramount importance of marital adjustment, it becomes essential to consider and evaluate this variable to enhance marital satisfaction [2, 8, 9].

A 2008 study across 27 countries reported an increasing prevalence of sexual dissatisfaction, and only 57% of men and 58% of women were satisfied with their sexual lives [10]. These data indicate that there are also drastic problems with marital adjustment, which is considered to be the barometer of sexual satisfaction [11, 12].

The structures of beliefs, attitudes, subjective norms, and enabling factors, which are called the BASNEF model, adapt two parent theories (PRECEDE model and theory of reasoned action) to the special needs of health education in developing [13, 14]. Therefore, the BAS-NEF model is one of the best for developing countries. Although various studies [15-26] were done in Iran and other countries on marital adjustment, no study has used the BASNEF model to determine the predictors of marital adjustment.

The collected data were subjected to descriptive and analytical analyses, including the Pearson correlation and structural equation modeling (SEM). The modeling allows for investigating the relationships between behavioral intention, enabling factors, and behavior, as posited in the conceptual framework of the BASNEF model. Model fit is assessed through the utilization of various fit indices, including the comparative fit index (CFI), Tucker-Lewis index (TLI), standardized root mean square (SRMR) and root mean square error of approximation (RMSEA). These discoveries offer implications for advancing targeted interventions focused on cultivating favorable health behaviors among women. By recognizing the fundamental factors influencing health behavior, medical professionals and policymakers can devise strategies to enhance knowledge, attitudes, subjective norms, and factors that positively impact behavioral intentions and health-related actions.

By focusing on a specific population and employing advanced statistical techniques, this study yields valuable insights that can inform targeted interventions and policies promoting positive health behavior. These findings contribute to the existing body of literature and have implications for healthcare providers, policymakers, and researchers striving to enhance health outcomes in similar contexts. Using the BASNEF model and quantitative analysis techniques, this research provides valuable insights into the determinants of marital adjustment within the context of comprehensive health service centers. So, the current study was designed to determine predictors of marital adjustment among females based on the BAS-NEF model.

Methods

Design and sample

This research is cross-sectional and was conducted from April to July 2023. The statistical population included women from the comprehensive health service centers of Torbat Heydarieh City, Iran, who have active health records. The research sample comprises 300 married women aged 18 to 49. After approving the plan and obtaining permission from the Ethics Committee, the list of all health centers in Torbat Heydarieh City was first obtained from the city health center. Then, sampling was done in two stages, a multi-stage cluster sampling. In this way, two centers were randomly selected from the comprehensive health centers of Torbat Heydariyeh. Next, the samples were included in the study through available sampling and proportional to the population of each center. In SEM analysis, optimal and minimum sample sizes were 200 and 100, respectively [27]. More complex models would require even larger samples to achieve statistical power. This sample size of 300 seems sufficient for SEM.

Data collection and instrument

The data collection tool in this study was a questionnaire. The questionnaire consisted of demographic characteristics and researcher-made BASNEF model constructs. Demographic variables included age, education level, job, having a child, years of marriage, number of children, job and marriage age. BASNEF model constructs include 42 questions consisting of attitude (9 questions), subjective norms (9 questions), enabling factors (5 questions), behavioral intention (5 questions), knowledge (9 questions) and behavior (7 questions). It is worth noting that one of the project's organizers was present at all stages of collecting participants' information. For ethical considerations, informed consent was obtained from the participants' husbands. The content validity method was used to determine the validity of this questionnaire.

Thus, the questionnaire was first prepared based on books, articles and reliable sources. It was given to 10 experts, and the content validity index (CVI) and content validity ratio (CVR) were calculated. CVI and CVR of the questionnaire were 0.8 and 0.76, respectively.

The Cronbach α was used to determine the reliability of the questionnaire. Thus, the Cronbach α coefficient was found to be 0.79. This questionnaire includes knowledge questions. The correct answer was given a score of 3, and the wrong was given a score of 1. Attitude questions, behavioral intention, enabling factors, and subjective norms are scored on a 5-point Likert type as follows: Completely agree, score 4; agree, score 3; I have no opinion, score 2; I disagree, score 1; and completely disagree, score 0. Scoring in the reverse questions was as follows: Completely agree, score zero; agree, score 1; neither agreed nor disagreed, score 2; disagreed, score 3; and completely disagreed, score 4. It is worth mentioning that the questionnaire tool and its questions were presented in the form of face-to-face interviews with clear explanations of the study objectives for the participants by the researcher and relevant experts.

The inclusion criteria were full consent to participate in the research and complete the questionnaire, age range of 18-49 years, no history of divorce in the past year, living with a husband in the same house, the first marriage of a husband and wife, at least one year of cohabitation, and women referred for health care and had health records. The exclusion criteria were incomplete questionnaire, loss of a husband, death of a close relative in the last 6 months, pregnancy or childbirth in the previous 6 months, alcohol and drug use, and use of drugs related to mental disorders.

Statistical analysis

Data were analyzed using descriptive and analytical statistics, including the Pearson correlation and SEM. The modeling was performed on the total sample, based on the model hypothesized in Figure 1, to analyze how behavioral intention and enabling factors are related to behavior in women. The first stage of the process was the creation of the latent variables and hypothesizing the model, followed by confirmatory factor analysis (CFA), which was used to test the relationship between the latent variables.

SEM parameters were estimated, and a general fit of the model was assessed. The chi-square statistic value and the degrees of freedom are reported to evaluate the model's fit. However, four other indices were considered because the chi-square was affected by sample size. Ideal goodness of fit was indicated by the CFI>0.9, TLI>0.9, SRMR<0.08 and RMSEA<0.08 [28].

The Mplus software, version 6 was applied to SEM. Descriptive and other analyses were performed using SPSS software, version 26. The significance level was set at 0.05.

Results

Based on the results taken from the questionnaires, demographic variables are presented in Table 1. Most women were between 30 and 40 years old (37%), had diplomas (39.3%), were housewives (69.1%), and had a child (87%). The mean years of marriage among samples was 12.94±8.43 years.

The Spearman correlations showed a positive and significant correlation between behavioral intention (r=0.603, P<0.05), enabling factors (r=0.430, P<0.05), subjective norms (r=0.301, P<0.05) and attitude (r=0.0187, P<0.05) with behavior.

The standardized factor loadings, as tabulated in Table 2, indicate how well the indicators explain or contribute towards their respective latent variable. As expected, all latent variable indicators showed significant factor loadings (P<0.05).

| Variables | | No. (%)/Mean±SD | Variables | | No. (%) |
|-----------------------------|---------------------|-----------------|---|---------------------|--------------------|
| Age (y) | 10-20 | 22(7.3) | | 0 1 | 41(13.7) 87(29) |
| | 20-30 | 109(36.3) | Number of | 2 | 84(28) |
| | 30-40 | 111(37) | children | 3 | 62(20.7) |
| | 40-49 | 58(19.3) | | >4 | 26(8.7) |
| Education level | Under di- ploma | 78(26) | | Under di- ploma | 59(19.7) |
| | Diploma | 118(39.3) | Husband edu- cation level (missing=1) | Diploma | 97(32.4) |
| | Associate degree | 29(9.7) | | Associate degree | 33(11) |
| | Bachelor | 75(25) | | Bachelor | 110(36.8) |
| Job (missing=2) | Freelance | 26(8.7) | | Freelance | 139(55.8) |
| | Housewife | 206(69.1) | Husband Job (missing=51) | Free | 7(2.8) |
| | Student | 26(8.7) | | Student | 8(3.2) |
| | Employee | 40(13.4) | | Employee | 95(38.2) |
| Having child (missing=1) | Yes | 260(87) | Marriage age | 10-20 | 135(54) |
| | No | 39(13) | (missing=50) | 20-30 | 105(42) |
| Years of | marriage | 12.94±8.43 | >30 | | 10(3.3) |

Table 1. Descriptive statistics for demographics variables

The values of standardized factor loadings to the standard error in Table 2 (ESTIMATE/S.E.) show that among the indicators of the knowledge factor, "questions 7 and 8," among the indicators of the attitude factor, "questions 14 and 15," among the indicators of the subjective norms factor, "questions 22, 23 and 24," among the indicators of the enabling factors, "questions 29 and 31," among the indicators of the behavioral intention factor, "questions 34 and 35," among the indicators of the behavioral factor, "questions 40, 41 and 42" are the most effective predictive indicators that have been related to each factor.

At first, SEM was employed to analyze the factors affecting behavior based on the BASNEF model. Therefore, model 1 was extracted. However, some goodness of fit indices were not confirmed ($\chi^2/df=2.56$, CFI=0.712, TLI=0.695, RMSEA=0.072). In the next step, the goodness of fit indices of Model 2, which was the modified version of Model 1, was confirmed to obtain better goodness of fit index and determine the direct and indirect effects of constructs on each other and the dependent variable, i.e. behavior. The values of the fitness indices of model 2 are as follows: ($\chi^2/df=2.20$, CFI=0.78, TLI=0.77 and RMSEA=0.063). Figure 1 shows the direct and indirect effects of variables predicting behavior.

As seen, behavioral intention (ρ =0.635, P<0.05) and enabling factors (ρ =0.335, P<0.05) are directly effective on behavior and the effect of behavioral intention is stronger compared to enabling factors. However, the enabling factors also indirectly affect the behavior by influencing the behavioral intention (ρ =0.300×0.653=0.196, P<0.05). Subjective norms indirectly influence behavior through behavioral intention (ρ =0.268×0.653=0.175, P<0.05). Knowledge (ρ =0.307×0.268=0.082, P<0.05) and attitude indirectly (ρ =0.530×0.268=0.142, P<0.05) affect behavioral intention through subjective norms.

Finally, the research findings indicated that the BASNEF constructs could predict 63% of the behavior variance.

Figure 2 shows a statistically significant relationship between education, spouse's education, and job with marital adjustment (P<0.05).

| Latent Variables | Indicator | Factor Loading (Estimate) | S.E. | ESTIMATE/S.E. |
|------------------|-----------|------------------------------|-------|---------------|
| | Q2 | 0.3 | 0.11 | 2.721 |
| | Q3 | 0.311 | 0.123 | 2.53 |
| | Q4 | 0.296 | 0.095 | 3.124 |
| | Q5 | 0.426 | 0.117 | 3.644 |
| Knowledge | Q6 | 0.198 | 0.095 | 2.082 |
| | Q7 | 0.424 | 0.099 | 4.277 |
| | Q8 | 0.353 | 0.084 | 4.181 |
| | Q9 | 0.321 | 0.079 | 4.048 |
| | Q10 | 0.153 | 0.077 | 1.995 |
| | Q11 | 0.568 | 0.058 | 9.853 |
| | Q12 | 0.749 | 0.043 | 17.286 |
| | Q13 | 0.76 | 0.074 | 10.307 |
| | Q14 | 0.826 | 0.03 | 27.843 |
| Attitude | Q15 | 0.766 | 0.038 | 20.058 |
| | Q16 | 0.565 | 0.075 | 7.573 |
| | Q17 | 0.671 | 0.049 | 13.589 |
| | Q18 | 0.166 | 0.071 | 2.341 |
| | Q19 | 0.556 | 0.056 | 9.885 |
| | Q20 | 0.628 | 0.048 | 13.114 |
| | Q21 | 0.681 | 0.056 | 12.241 |
| | Q22 | 0.796 | 0.03 | 26.402 |
| Subjective norms | Q23 | 0.813 | 0.028 | 28.846 |
| | Q24 | 0.77 | 0.029 | 26.737 |
| | Q25 | 0.681 | 0.04 | 16.966 |
| | Q26 | 0.726 | 0.042 | 17.144 |
| | Q27 | 0.507 | 0.064 | 7.86 |
| | Q28 | 0.66 | 0.05 | 13.278 |
| Enabling factors | Q29 | 0.801 | 0.042 | 18.907 |
| | Q30 | 0.486 | 0.069 | 7.073 |
| | Q31 | 0.771 | 0.046 | 16.786 |

Table 2. Relationship between latent variables and their indicators

| Latent Variables | Indicator | Factor Loading (Estimate) | S.E. | ESTIMATE/S.E. |
|----------------------|-----------|------------------------------|-------|---------------|
| | Q32 | 0.394 | 0.071 | 5.557 |
| | Q33 | 0.486 | 0.058 | 8.453 |
| Behavioral intension | Q34 | 0.778 | 0.037 | 20.874 |
| Benavioral Intension | Q35 | 0.825 | 0.031 | 26.214 |
| | Q36 | 0.587 | 0.060 | 9.744 |
| | Q37 | 0.717 | 0.041 | 17.454 |
| | Q38 | 0.297 | 0.077 | 3.863 |
| | Q39 | 0.711 | 0.059 | 12.009 |
| | Q40 | 0.791 | 0.05 | 15.935 |
| Behavior | Q41 | 0.700 | 0.048 | 14.525 |
| | Q42 | 0.704 | 0.045 | 15.791 |
| | Q43 | 0.483 | 0.054 | 8.933 |
| | Q44 | 0.364 | 0.065 | 5.602 |





JR

Figure 1. The standard coefficients of the factors and the results of the relationships between the BASNEF components of the model in the structural section

Note: A red line indicates a nonsignificant path, P<0.05 was significant.



20-30 Marriage Age

Figure 2. Effect of demographic variables on marital adjustment

free

Spouse's Job

student

Employee

personal

JRH

Discussion

The present study was an exploratory study designed and implemented to determine the predictors of marital adjustment based on the constructs of the BASNEF model. The current study's innovative aspect is using the BASNEF model for predicting marital adjustment. This novel approach provides new insight for studying marital adjustment and designing interventions based on the constructs of the BASNEF model. On the other hand, considering that no study has been done using the BAS-NEF model in this field, the current study is innovative, and in general, the BASNEF model is a valuable framework for predicting marital adjustment.

Although no study has used the BASNEF model to determine predictors of marital adjustment or the effect of educational intervention based on the BASNEF model to promote marital adjustment, various studies have shown the impact of using the BASNEF model on couples' interpersonal communication skills [29, 30] and the quality of sexual relationship, that both of them are similar subject and have a favorable effect on marital adjustment.

In the present study, there was a statistically significant relationship between education and marital adjustment consistent with the study of Quinn and Odell [16]. Still, it is inconsistent with Durgut and Kisa's study [17]. The reasons for these contradictions are sociocultural dissimilarities and different understudied populations. Therefore, it is suggested that future studies be conducted in social and cultural groups with a larger sample size.

The present study showed a statistically significant relationship between a spouse's education and marital adjustment, which is inconsistent with Durğut and Kisa's study [17]. It seems that the reason for the contradictory results is the differences in the understudied population because Durğut and Kisa [17] studied those who had the experience of marriage under the age of 18. Therefore, it is suggested that more studies be conducted to investigate the relationship between a spouse's education and marital adjustment and the mechanism of its effect.

The current study found a statistically significant relationship between job and marital adjustment, and the lowest marital adjustment was found in homemakers. Having a job with income increases marital adjustment and satisfaction because one can make decisions for various issues. On the other hand, less job stress leads to more marital adjustment [21]. The present study has several strengths. First, using a model, the predictors of marital adjustment were determined; therefore, it allows designing and implementing targeted interventions based on the model to increase marital adjustment. Secondly, due to the use of a model in this field, the present study is innovative and provides a new horizon for conducting studies on this issue. Thirdly, the results of the present study provide a practical guide for planners, policymakers, and counselors to promote marital adjustment and divorce prevention. Fourth, it should be mentioned that the BASNEF model is one of the best models for developing countries, so considering the lack of a similar study in this field, the findings of this study can play an essential role in improving marital adjustment and reducing its negative consequences.

The present study has several limitations. First, the study was conducted only on women referring to comprehensive health service centers, so caution should be taken in generalizing the results to all women. Secondly, due to the cultural characteristics of the understudied population and the nature of the study topic, the answers of the study subjects to the questions may not be accurate. Thirdly, the nature of the cross-sectional study limits the possibility of determining causal relationships.

Conclusion

Based on the present study's findings, the BASNEF model constructs are suitable predictors for marital adjustment. Also, a significant relationship exists between education, spouse's education, and job with marital adjustment. Therefore, it is suggested that educational interventions be designed and implemented based on the BASNEF model. Also, interventions should be done to emphasize women whose education and their husband's education are lower and homemakers. Considering sociocultural factors and differences in study populations, we recommended designing studies based on the BAS-NEF model in different populations in future research.

Ethical Considerations

Compliance with ethical guidelines

This study was approved by the Ethics Committee of Tehran University of Medical Sciences, Tehran, Iran (Code: IR.THUMS.REC.1402.004). All participants entered the study with informed consent. The questionnaires were anonymous, and the researchers kept the participants' information confidential.

Funding

This study was supported by Torbat Heydariyeh University of Medical Sciences, Torbat Heydariyeh, Iran.

Authors' contributions

Study design: Hadi Alizadeh Siuki and Hashem Heshmati; Data collection: Adele Ramzani; Data analysis, interpretation and preparing the manuscript: All authors.

Conflict of interest

The authors declared no conflict of interest.

Acknowledgments

The authors thank all participants in the study.

References

- [1] Eftekhari M, Amanelahi A, Christopher Perry J, Rajabi G, Aslani K. Explaining the marital adjustment process in Iranian women: A grounded theory study. Journal of Research and Health. 2021; 11(2):77-86. [DOI:10.32598/JRH.11.2.1706.1]
- [2] Arshad M, Mohsin MN, Mahmood K. Marital adjustment and life satisfaction among early and late marriages. Journal of Education and Practice. 2014; 5(17):83-90. [Link]
- [3] Lamela D, Figueiredo B. Coparenting after marital dissolution and children's mental health: A systematic review. Jornal de Pediatria. 2016; 92(4):331-42. [DOI:10.1016/j. jped.2015.09.011] [PMID]
- [4] Arfaie A, Mohammadi A, Sohrabi R. Relationship between marital conflict and child affective-behavioral psychopathological symptoms. Procedia-Social and Behavioral Sciences. 2013; 84:1776-8. [DOI:10.1016/j.sbspro.2013.07.031]
- [5] Hosokawa R, Katsura T. Marital relationship, parenting practices, and social skills development in preschool children. Child and Adolescent Psychiatry and Mental Health. 2017; 11:2. [DOI:10.1186/s13034-016-0139-y] [PMID] [PMCID]
- [6] Buehler C, Lange G, Franck KL. Adolescents' cognitive and emotional responses to marital hostility. Child Development. 2007; 78(3):775-89. [DOI:10.1111/j.1467-8624.2007.01032.x]
 [PMID]
- [7] Cummings EM, Goeke-Morey MC, Papp LM. Everyday marital conflict and child aggression. Journal of Abnormal Child Psychology. 2004; 32(2):191-202. [DOI:10.1023/ B:JACP.0000019770.13216.be] [PMID]
- [8] Asoodeh MH, Khalili S, Daneshpour M, Lavasani MG. Factors of successful marriage: Accounts from self described happy couples. Procedia Soc Behav Sci. 2010; 5:2042-6. [DOI:10.1016/j.sbspro.2010.07.410]

- [9] Be D, Whisman MA, Uebelacker LA. Prospective associations between marital adjustment and life satisfaction. Personal Relationships. 2013; 20(4):728-39. [DOI:10.1111/pere.12011]
- [10] Mulhall J, King R, Glina S, Hvidsten K. Importance of and satisfaction with sex among men and women worldwide: Results of the global better sex survey. The Journal of Sexual Medicine. 2008; 5(4):788-95. [DOI:10.1111/j.1743-6109.2007.00765.x] [PMID]
- [11] Çömez İkican T, Coşansu G, Erdoğan G, Küçük L, Özel Bilim İ. The relationship of marital adjustment and sexual satisfaction with depressive symptoms in women. Sexuality and Disability. 2020; 38:247-60. [DOI:10.1007/s11195-019-09590-7]
- [12] Yilmaz E, Zeytİnci İE, Sari S, Karababa IF, Çıllı AS, Kucur R. Investigation of sexual problems in married people living in the center of Konya. Turk Psikiyatri Dergisi. 2010; 21(2):1-8. [Link]
- [13] Hubley J. Barriers to health education in developing countries. Health Education Research. 1986; 1(4):233-45. [DOI:10.1093/her/1.4.233]
- [14] Hubley J. Understanding behaviour: The key to successful health education. Tropical Doctor. 1988; 18(3):134-8. [DOI:10. 1177/004947558801800316] [PMID]
- [15] Muraru AA, Turliuc MN. Family-of-origin, romantic attachment, and marital adjustment: A path analysis model. Procedia-social and Behavioral Sciences. 2012; 33:90-4. [DOI:10.1016/j.sbspro.2012.01.089]
- [16] Quinn WH, Odell M. Predictors of marital adjustment during the first two years. Marriage & Family Review. 1998; 27(1-2):113-30. [DOI:10.1300/J002v27n01_08]
- [17] Durğut S, Kısa S. Predictors of marital adjustment among child brides. Archives of Psychiatric Nursings. 2018; 32(5):670-6. [DOI:10.1016/j.apnu.2018.03.006] [PMID]
- [18] Cirhinlioglu FG, Tepe YK, Cirhinlioglu Z. Psychological distress, self esteem and emotional dependency of married individuals as predictors of marital adjustment. Procedia Computer Science. 2017; 120:164-71. [DOI:10.1016/j. procs.2017.11.224]
- [19] Takhttavani M, Afsharinia K. Prediction of marital adjustment based on attachment styles and deterministic thinking of couples among students. Journal of Research and Health. 2018; 8(3):218-25. [DOI:10.29252/jrh.8.3.218]
- [20] Hoseinabad SFH, Banab BG, Mashayekh M, Sodagar S, Farrokhi N. An investigation of predictive marital adjustment base of attachment styles in Iranian married women. Journal of Community Health Research. 2018; 7(3):147-54. [Link]
- [21] Sadeghi A, Khedmati Z, Yousefi A. The effect of job orientation and job stress on marital adjustment among Guilan office of education staff. Sociology mind. 2018; 8(2):83-94. [DOI:10.4236/sm.2018.82006]
- [22] Azhdari A, Zarei E, Mohammadi K. An assessment of the correlations between marital adjustment and marital satisfaction based on light triad traits and quality of life in women. Women's Health Bulletin. 2024; 11(1):64-74. [DOI:10.30476/ whb.2024.101717.1270]

- [23] Mousavi Haghighi SE, Pouladi Rishehri A, Mousavi SA. Comparison of the effects of cognitive behavioral couple therapy and acceptance and commitment therapy on intimacy and marital adjustment among couples applying for divorce in Bushehr (Iran). Journal of Health Sciences & Surveillance System. 2023; 11(3):440-8. [DOI:10.30476/JHSSS.2022.94220.1517]
- [24] Banaha S, Pasha H, Bakhtiari A, Omidvar S, Behmanesh F, Faramarzi M, et al. Effectiveness of group psychosexual training for marital adjustment and sexual self-efficacy of infertile women: A randomized controlled trial. Iranian Journal of Psychiatry. 2023; 18(3):275-84. [DOI:10.18502/ijps. v18i3.13004] [PMID] [PMCID]
- [25] Yang Y, Luo B, Ren J, Deng X, Guo X. Marital adjustment and depressive symptoms among Chinese perinatal women: A prospective, longitudinal cross-lagged study. BMJ Open. 2023; 13(10):e070234. [DOI:10.1136/bmjopen-2022-070234] [PMID] [PMCID]
- [26] Meena PS, Jain M, Dosodiya Y. Marital adjustment among employed and unemployed women: A study in Rajasthan. Annals of Psychaitry. 2023; 1(01):20-4. [Link]
- [27] Boomsma A, Hoogland JJ. The robustness of LISREL modeling revisited. In R. Cudeck, S. du Toit & D. Sörbom (Eds.), Structural equation modeling: Present and future. A Festschrift in honor of Karl Jöreskog [preliminary version with references]. 1982:149-73. [Link]
- [28] Little TD. Longitudinal structural equation modeling. New York: Guilford Publications; 2024. [Link]
- [29] Ghofrani H, Yavari M, Moradi M, Emadzadeh A. [The effect of educational program based on the BASNEF model on the interpersonal relationshipsskills of female students with their husbands (Persian)]. Military Caring Sciences. 2020; 7(4):361-72. [DOI:10.52547/mcs.7.4.361]
- [30] Shahbazi A, Behboodi Moghadam Z, Maasoumi R, Saffari M, Mohammadi S, Montazeri A. Effect of a health-education program based on the BASNEF model of overall sexual health satisfaction and satisfaction with quality of sexual relationship among women with infertility. International Journal of Women's Health. 2020; 12:975-82. [DOI:10.2147/IJWH. S248734] [PMID] [PMCID]